Essex County College Division of Mathematics and Physics

MTH 086 - Final Exam Review

1. [6.1] Solve: 4=x+1

[6.1] Solve: x+z = _l
5 5

3. [5.2] Simplify by using the Distributive Property: 2 (6x +7 y)

4. [5.2] Simplify: 2n—-4(9n-3)
[4.5] Write as a fraction: 133%%

6. [4.5] Write as a decimal: 45.8%
7. [4.5] Write as a percent: 0.07

8. [6.3] Use the basic percent equation to solve: 75% of 12.5 is what?

[4.5] Write as a percent: 3
20

10. [6.3] Use the basic percent equation to solve: 0.45% of 150 is what?

11. [6.3] Solve. Leave a fraction in your answer, if necessary.
45 is what percent of 70?

MTHO086/Final Exam Review Page | 1



Essex County College Division of Mathematics and Physics

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

[2.2] How much colder is the average temperature at 40,000 ft. than at 30,000 ft.?

Cruising Altitude Teﬁ;f:ag:“e
12,000 ft 16°
20,000 ft -12°
30,000 ft —48°
40,000 £t -70°
50,000 ft -70°

[2.3] Multiply: (5)(~1)(~1)

[2.4] Simplify: 4-(8-4)+4

[2.4] Simplify: 12-4-8+4% —(-19)-(-8)

[2.4] Evaluate the expression (b—a)’ +4¢ for a=-5, h=2,and c=-9.

[6.3] Use the basic percent equation to solve: Find 10.4% of 775.

[6.3] Suppose the number of people working in a certain country in a certain year age 55
or over was 45.2 million. Thirty-five percent of these workers were 65 or older. How
many workers were age 65 or older?

[6.4] A family reduced its normal monthly gas bill of $55 by $19. What percent
decrease does this represent? Round to the nearest tenth of a percent.

[6.5] A computer monitor with a regular price of $305 is on sale for 21% off the regular
price. Find the sale price. Round to the nearest cent.

[6.5] A digital camera costing $115 has a markup rate of 25%. Find the selling price.
Round to the nearest cent.

[10.2] Multiply: (5w4)(2x6y)

MTHO086/Final Exam Review Page | 2



Essex County College Division of Mathematics and Physics

23. [5.3] Translate into a variable expression: the total of twice v and 8

24. [4.3] A rectangle has a length of 6.3 in and a width of 4.9 in. Find the perimeter of the
rectangle.

25. [8.1] Graph the following ordered pairs: (1,3),(0,4),(—4,-4), and (3,1)

26. [6.6] A home builder obtained a preconstruction loan of $590,000 for 4 months at an
annual interest rate of 9.6%. What is the simple interest due on the loan?

27. [3.1] Find the LCM of the numbers 2, 4, and 13.
28. [3.1] Find the GCF of the numbers 8 and 15.

29. 4,
7

[3.2] Place the correct symbol, < or >, between the two numbers:

A | D

30. [3.4] Multiply: (-?)-3-(-%

31.
[3.4] Find the product of —4% and 2%.

32 13 41 Divide: (_f)+(_i)
7)7\ " 1a

33.
[3.6] Add: §+ —§
8 9

34. ) 5 5
3.5 Find 1— plus 4=.
[3.5] > p 2
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35.
[3.6] Subtract: —% - (_ L)

36. [3.5] Evaluate the variable expression x - y for the given values of x and y.

5 4
x=5=, y=2—
g ) =7
37. ) .
[3.7] Evaluate: 2 2. _E
9 5

38. [4.1] Write the number 4.820456 to the nearest ten-thousandth.
39. [4.2] Evaluate the variable expression x + y for x = 62.56 and y = —47.18.
40. [4.4] Convert the decimal 1.44 to a fraction.

41.
[4.2] Evaluate the variable expression Y for x=—0.403 and y=0.31.

y

42. 14.6] Simplify: +10+26

43. [4.3] Divide and round to the nearest hundredth: 6.466 ~ 4.7

44. [4.3] Multiply: 1.76(-0.003)

45. [6.1] Solve: —8x =27
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Answer Key
28. 1

1. x=3 290. <
N 3 30. 16

x=-z 35

31. 4

3. 12x+14y _IOE
5. 4 5
) 03458 33,19
7. 7% 34 712
8. 9.375 T
9. 15% 24
10. 0.675 35. 5
1. 2 36
12. 22° colder 56
13. 5 37. 2
14. 4 15
15. 23 38. 4.8205
16. 13 39. 15.38
17. 80.6 40. 11
18. 15.82 million or 15,820,000 15
19. 34.5% Al 13
20. $240.95 06
21. $143.75 43 138
22. 10x7y° 44. —-0.00528
23. 2v+8 45. 27
24. 22.4 inches —?
25.

26. $18,880.00
27. 52

MTHO086/Final Exam Review Page | 5



10.

11.

12.

13.

14.

Essex County College
MTH 092 -Final Exam Review

[2.1] Determine which of the numbers in the set below are integers.

4
{—14,22, ﬁ . 9.25,—5.5}

[2.1] Place the correct inequality symbol, < or >, between the numbers -18  -11.
[2.1] Evaluate: —|—12]

[2.2] Find the sum 58 + (=15} + (—16).

[2.2] Find the difference —170- (31},

[2.3] Find the product. of —4,—2 and —6 .

[2.3] An object moves 490 miles in 7 hours. What is the object's average speed in miles per hour?

6+ [(-24) - 6]

[2.4] Evaluate the expression 3

4 3
[3.6] Divide the fractions [_E] - [_ﬁ] and write the result in simplest form.

2 3
[3.6] Evaluate 2+ 373 and write the result in simplest form.

[3.7] Evaluate the expression.
Sl L2 LY
4%\ 36 12
ox-

[5.1] Evaluate the algebraic expression — "‘; when x =10 and y = 6.
¥ +

[5.2] Simplify the expression T vz v fized

o _ 52t |7
[5.2] Simplify the expression 3l



15.

¢,

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

217.

28.

29.

30.

[5.2] Simplify the expression 3[7 — (t — 3) + 2(t + 2)]
[5.3] Translate “Fourteen times the difference of a number X and 8” into a variable expression.

[5.3] Translate “Six times the sum of x and & divided by 2” into a variable expression and
simplify.

[6.1] Solve the equation ¥ +

1] =
calwh

x 18
[6.2] Solve the proportion Pl to determine x.

[6.2] Suppose a car uses 60 gallons of gasoline for a trip of 600 miles. How many gallons would be used on a trip
of 100 miles?

1 t
[7.1] Solve the linear equation §x+ 4= Ex_ 7.

[7.1] Solve the linear equation —7{x + 2} = =3(x— 5},

[7.2] Two buses start at the same point and travel in the same direction at average speeds of 60 miles per hour and
40 miles per hour. After how much time (in hours) the two buses are 60 miles apart?

[20.2] A large rectangular-shaped swimming pool has a perimeter of 1,020 meters, and its length is 20 meters more
than 6 times its width. Find its dimensions.

[8.1] Determine all possible quadrants in which the point [x,yj, xy = [ can be located. Assume x =0 and
¥= 0,

[8.3] Find the x- and y-intercepts of the graph of the equation Zx +y = —3.

38 5
[8.4] Find the slope (if possible) of the line passing through the points [— 27 E] and [— 7 2 ]

[8.4] Sketch the graph of the line through the point (1, 2) with slope # = 4.
[8.4] Sketch the graph of the line 3x—Zy+ fi=10.

[8.5] Write an equation of the line that passes through the points (—5,—1jand (—4, 3]. Write the equation in
slope-intercept form.



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

[10.1] Find the difference —[—ﬁxj —9x+ 19] - [—gx— 6 + 19].

[10.2] Multiply: 3y( 8yx" |6 %)°
[10.3] Multiply (3x+7) [xj - 8x— 2] and simplify.
[10.3] find the product (x+ 13{x—1}.

4 4
[10.4] Simplify the expression [Ex-gy?J [zx'gy?J .

4
12[:;1:2]

[10.4] Simplify the expression ————..
(3e) v

[10.4] Write 167,000 in scientific notation.

ozt -t e st -
[10.5] Divide -
—ax

o x4 3x-70
[10.5] Divide .

[11.1] Factor the polynomial 2xy+ 4xy - 12x" 3",
[11.2] Factor the trinomial x* - 7x+ 10
[11.2] Factor the trinomial x* + Sxy + fiy*

[11.2] Factor the polynomial z* +z* —42z° completely.

[11.2] Factor the given polynomial 3z + 27z + 42 completely.

[11.3 Factor the trinomial 7x* + 25x + 12,
[11.3] Factor the trinomial, Ty -y -1
[11.3] Factor the trinomial, 3x® + 162+ 16

[11.3] Factor the polynomial 122 — 1292 + 189 completely.



49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

[11.4] Factor the polynomial &1 —49¢*.

[11.4] Factor the polynomial z* - 256 completely.

[11.4] Factor the trinomial z* - 18z+ 81,

[11.4] Factor the trinomial 4x* — 36ixy + 81y

[11.5] Solve the equation [y— 9) (y— 4) -

[11.5] Solve the equation 4w* = —2&w.

0.

[11.5] Solve the equation 4% + 4¢ = —24: — 24,

[11.5] Solve the equation (z - 5)(z—4) = 20,

[11.5] The length of a rectangular garden is four feet less than three times its width. The area of the garden is 15

square feet. Find the width of the garden.

Y- 25
Ty+ 35

[12.1] Simplify the rational expression

5 st —Or— 54

[12.1] Simplify the rational expression

B -4b-45
B4 11+ 18

[12.1] Simplify the rational expression

5+ 6

[12.1] Multiply and simplify the rational expression

[12.1] Divide and simplify the expression

[12.2] Add and simplify the expression

2rtx+7 x-1

2

-2x+l -xg—49'

rfx+ 9 xP49x+12

4 x-30 N o 10x+ 25

+

i

o+ 7

[12.2] Subtract and simplify the expression

ol

+ R+ T

fi

¥

2

— 49

yioay-35



65.

66.

[12.4] Solve the rational equation

7 4 3

42

[12.4] Solve the rational equation.

1 a5
I+—=—
x 8



10.

11.

12.

13.
14.

15.
16.

17.

18.

19.
20.

21.

22.

23.
24,
25.

26.

27.

Noakrwbd

ANSWER KEY

[-14,22}

21

11
24820+ T+ 4
_ 35,2

16
3t +42

14(x-8)
Blx+5)

=3x+ 15

3

56

18
I=—
4

10 gallons
495

ET
29

T ——
4

3.00 hours
Width =70 meters, length =440 meters
Quadrant II and I'V
x-intercept: [~4,0]
y-intercept: (0,~8]
28

&7



28.

29.

30.

31.
32.

33.

34.
35.

36.

37.
38.

39.
40.

41.
42.

- N w B o
1
T

—t—t—t— —t——+—
543211/12345 X

= N w = (&2
Il ! 1

y=4x+ 19

12x° + 18x - 38

24726516

37+ 3% + 50x - 14

-1

1

4t

27

1.67x 10°

A4x* x-S+ —
3x

x+ 10

2;1}{1 +dx— ﬁx*f]

(x=5x-2)

|:x+ EyJ [x+ Eyj



43.
44,
45.
46.

47.
48.
49.

50.

w

51.
52.

53.
54,
55.
56.
57.

58.

59.
60.

61.

62.

63.

64.

65.

66.

2Z(z+ Tz - 6)
Hz+T(z+ D
(Tx+4(x+ D)

(7y+ lj(y— lj
CGx+dix+4)
Hz-D{4z-T7
(9-T(9+7)

(zg + lﬁj[z+ 4$i(z-4)
(z-9)°

[:2?:—9_]!:]2
y=94
w=-71
=-f,-1
=09
width = 3 feet
¥—5
— .,y =5
- ¥
54— O5=—h
by s
bh-12
r+1
(x—11(x="T) |
(x+3(x-5)
(x+ 6)2
1
c+1
1

(y+5)(r+7)

=

XN

re-Tr=1

k=SS

[
[}

and x=§

y
I
oo | — -



	ECCME Sample Questions 086
	ECCME Sample Questions 092

